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K # X & | HEHK 5 x it
001 | T & H H# 500 567 661 1,228
002 | #7 X T 694 750 814 1,564
003 £ & M H#r 353 351 337 688
004 | &£ i T 986 1,200 1,100 2,300
005 X R HT 734 892 904 1,796
006 | =& & F Hr 1,350 1,679 1,577 3,256
007 | # @ 3 T 173 269 211 480
008 | 5 4t Hr 815 965 1,047 2,012
009 | K f& H 538 731 706 1,437
010 | R H i) 1,002 1,322 1,440 2,762
011 | € B F M 663 822 866 1,688
012 | & &  Hr 881 1,155 1,284 2,439
013 | 8k H i) 556 750 845 1,595
014 | & [/  Hr 882 1,123 1,139 2,262
015 | & B Hr 118 144 167 311
061 | XEREHE—TH 37 38 25 63
062 | XFEHEZTEH 204 183 193 376
063| XEHE=TH 15 37 60 97
064 | XFEHEMTEH 99 105 129 234
071 | 4£%HAH—TH 33 28 43 71
072 | £HFABIZTH 267 268 224 492

A

O-F| #h X £ T 31 5 = &
081 | Fa BT — T H 0 0 0 0
082 | m BT = T H 32 661 42 703
083 | Mg BT = T H 164 164 199 363
091 | Mlisez BT — T H 81 82 105 187
092 | flis BT — T H 89 247 407 654
101 | FET—TH 102 99 106 205
111 | FHHEHE—TH 123 134 137 271
112 | EFSHEZTH 84 71 67 138
113 | LHFHE=TH 112 109 126 235
114 | FEHEETH 139 141 157 298
115 | FHHEAETH 154 111 165 276
116 | FHHEIARTH 144 136 136 272
117 | FtHHEETH 124 139 159 298
118 | FEHHEI/NTHE 135 141 148 289
121 | EBFH—TH 79 66 76 142
122 | ERFHIZTH o1 65 62 127
123 | EBFHI=TH 79 78 89 167
124 | ERFHIETH 69 70 49 119
125 | ERFHEATH 102 109 115 224
126 | ERBFHEIATHE 151 130 126 256
127 | EBFHMETH 139 90 153 243

a it 13,013 16,222 16,396 32,618




